[1.34]
1.54 w, = 2 rad/s, ¢ = 0.1, v, = 00]aL, Z27]¥$] 2, = 10, 100 mmeol 3] z(¢) plot.

z(t) = ot sin(fwyt +¢), () = 4 e ¢t [-Cw, sinlw, t +¢) + w,coslwyt +¢)]

()—A51n¢—:170 >0 - @
z(0) = A4 (-Cw, sing + w,; cos¢) = =0

_ Cwn‘ro _ C _ 0.1 _
= A COS¢ = w, = 17C2 Ty = ﬁxo = 0.1005 Zg >0 - @
D*+ @ = 4= y1*+0.1005% z, = 1.005 z,
- — -1 1 — -1 — o —

O+ = ¢ = tan 0.1005 tan '(9.95) = 84.2 1.471 rad
Cw, = (0.1) (2 rad/s) = 0.2 rad/s, w,; = \/1 —0.12 (2 rad/s) = 1.990 rad/s

x(t)

1.005 z, ¢ %" sin(1.990 ¢ + 1.471)

o = 10 mm¥ =,  z(t) = 1.005 (10 mm) e **' sin(1.990 ¢ + 1.471)
= 10.05 e *?' sin(1.990¢ + 1.471) mm

x(t) = 10.05 exp(-0.2 t) sin(1.99 t + 1.47) mm
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t(s)

o = 100 mm¥ ®,  z(t) = 1.005 (100 mm) e "' sin(1.990¢ + 1.471)
= 100.5 e *?' sin(1.990¢ + 1.471) mm
x(t) = 100.5 exp(-0.2 t) sin(1.99 t + 1.47) mm
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